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1. If the price ceiling is set below he equ111br1um price,
. quantity demanded will equal quantity supplied.-
. quantity demanded will be less than quantlty supp11ed

. quantity demanded will be greater than quantxty supplled
. demand will be less than supply. = oo e
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2. The term consumer surplus refers to

a. the difference between the value of a good and the total pald f01'
the good. | . |

b. the total value that a consumer places upon a good

C. the decreasing marginal utility that consumers I6061V6 from '
additional consumption of a good.- . o :

d. the area between the demand curve and the hogngHtal'axis.

3. The tendency for the slope of an indiffarence curve to decrease as a
consumer moves along an indifference curve is known as the
a. price effect. ) . SRR
b. principle of a d1m1n1sh1ng mar01na1 rate of substltutlen
c. principle of an increasing 1ate of substltutlon o
d. income effect. - “ C

4. The long run is a period of time for which .
a. the firm does not have time to earn profits.
- b. the firm is able to maximize total profit.
c. the guantities of all inputs can be var1ed
d. economic efficiency 15 attained.

>. In the case of a perfectly competitive firm, - R
a. the price falls sharply when the quantity sold doubles ﬂ;ff
b. marginal revenue is less than average revenue ;:_- | ”
c. marginal revenue exceeds. the price. ' o

d

the change in total revenue equals prlce mUItIDIIEd by the Change -
1n quantity. o L SN |

6. A firm's shutdown point is the level of output and prxce!where the
firm is just covering its total A L
a. variable cost, since a firm cannot escape its fixed cost.
b. fixed cost, since a firm cannot escape 1ts variable cost.
c. fixed cost, since a firm cannot escape 1ts fixed cost

d. variable cost, since 3 f11m cannot escape 1tg Varzable COSt.

7. A monopolist will lower the profit- maX1m121ng DIICB when
a. Tixed costs are decreased.

b. marginal costs are decreased.
C. market demand increases.

d. average fixed casts are decreased.
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8%} A low conccntrat1on ratio indicates
a. a high degree of monopolization.
b. that wages are a low share of costs.
c. a high degree of competition.
d. that wages;are a high share of costs.

9 ‘Which of the fOIIOW1ng is held constant along the demand curve?

~a. price of the good .
b. quantzty

- C. 1lncome. -
d. both-a-and;b.v

10 The concept of opportunlty cost |
a. is relevant only to economics.
b. applies to consumers but not to f11ms
c. refers only to actual payment and incomes.

~d. can: be applled to the analy31s of any deC1S1ons mak1ng process
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